



# Generalization of Rangaig transform

Eman A. Mansour<sup>a,\*</sup>, Emad A. Kuffi<sup>b</sup>

<sup>a</sup>Department of Electrical Technologies, Southern Technical University, Technical Institute Nasiriyah, Iraq

<sup>b</sup>Department of Material Engineering, Collage of Engineering, Al-Qadisiyah University, Iraq

(Communicated by Madjid Eshaghi Gordji)

---

## Abstract

In this paper, a generalized form of the known Rangaig integral transform has been proposed; the general integral form is presented as a new integral transform called the “general Rangaig integral transform”. The General Rangaig integral transform has been studied and proven for some fundamental functions, its applicability and ability to find the exact solution have been proven via utilizing the transform in solving first- and second-order ordinary differential equations.

*Keywords:* Integral transforms, Rangaig transform, Inverse of Rangaig transform, Ordinary differential equations, Partial differential equations

---

## 1. Introduction

Since the invention of integral transforms in 1763 by [2]. Many scientific and engineering fields have exploited the ability of integral transforms to map problems from one domain, in which the problem would be complicated and very difficult to solve, into another domain in which they have become more straightforward to grasp and analyze. It is usually possible to map back the transformed function into its original domain using the inverse format of the used integral transform [5, 3, 12]. Throughout the years, the unremitting efforts of mathematicians have materialized in the proposal of many integral transforms that have been implemented in solving all kinds of differential and integral problems with suitable boundaries and initial conditions [9, 6, 7, 8, 1, 10, 4].

In 2017, [11], introduced an integral transform called Rangaig integral transform. Rangaig integral transform can be written as [11]:

$$\eta[h(t)] = \Lambda(\mu) = \frac{1}{\mu} \int_{-\infty}^0 e^{(\mu t)} h(t) dt, \quad \frac{1}{\lambda_1} \leq \mu \leq \frac{1}{\lambda_2}.$$

---

\*Corresponding author

Email addresses: iman.am73@stu.edu.iq (Eman A. Mansour), emad.abbas@qu.edu.iq (Emad A. Kuffi)

This work presents a generalization of the Rangaig integral transform. The general form of the Rangaig integral transform is applied and proved for some general functions, and its applicability and efficiency are going to be tested through the implementation of the general Rangaig integral transform on some first-order and second-order ordinary differential equations.

### 2. General Rangaig Integral Transform

Like any integral transform, general Rangaig integral transform could transform an equation from one domain into another and obtain the exact solution to that equation.

For the set of functions, an exponential order could be defined as:

$$H_g = \left\{ h(t) : \text{there exist } N, \lambda_1 \text{ and } \lambda_2 > 0, |h(t)| > Ne^{\lambda_j|t|}, t \in (-1)^{j-1} \times (-\infty, 0), \right. \\ \left. \text{where } j = 1, 2 \right\} \tag{2.1}$$

For equation (2.1):

$N \equiv$  finite constant.

$\lambda_1$  and  $\lambda_2 \equiv$  finite or infinite constants.

General Rangaig integral transform that defined for the set  $H_g$  in equation (2.1), can be written as:

$$\eta_g \{h(t)\} = \Lambda_g(\mu) = \frac{1}{\mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} h(t) dt, \tag{2.2}$$

Where:  $\Lambda_g(\mu)$  denote the general Rangaig integral transform of  $h(t) \in H_g$ .

$\frac{1}{\lambda_1} < \mu < \frac{1}{\lambda_2}$ ,  $n \in \mathbb{Z}$ .

$n$  is an integer number.

$p(\mu)$  is a function of parameter  $\mu$ .

For the function  $h(t)$ ,  $t$  is factorized by  $\mu$ , or the function  $h(t)$  is mapped into the function  $\Lambda_g(\mu)$  of  $\mu$ -space.

### 3. General Rangaig Integral Transform for Some Fundamental Functions

For an existing function  $h(t)$ , that is an element of  $H$ , general Rangaig integral transform is piecewise continuous and has decreasing exponential order if  $t \geq 0$  is obtained for the function  $h(t)$ .

**Theorem 3.1.** *If  $h(t) = 1$ , then its general Rangaig integral transform is:*

$$\eta_g \{1\} = \frac{1}{\mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} dt = \frac{1}{\mu^n p(\mu)}, n \in \mathbb{Z}.$$

And, if  $h(t) = t$ , then its general Rangaig integral transform is:

$$\eta_g \{t\} = \frac{1}{\mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} t dt = \frac{-1}{\mu^n [p(\mu)]^2}.$$

Now, general Rangaig integral transform for  $h(t) = t^m$ , is:

$$\eta_g \{t^m\} = \frac{1}{\mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} t^m dt = \frac{(-1)^m m!}{\mu^n [p(\mu)]^{m+1}}.$$

**Proof .** From general Rangaig integral transform definition:

$$\begin{aligned} \eta_g \{t^m\} &= \frac{1}{\mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} t^m dt = \frac{1}{\mu^n} \left( \left[ \frac{t^m e^{p(\mu)t}}{p(\mu)} \right]_{-\infty}^0 - \frac{m}{p(\mu)} \int_{t=-\infty}^0 e^{p(\mu)t} t^{m-1} dt \right), \\ &= \left[ \frac{e^{p(\mu)t}}{\mu^n p(\mu)} \left( t^m - \frac{t^{m-1}m}{p(\mu)} + \frac{m(m-1)t^{m-2}}{[p(\mu)]^2} - \dots + \frac{m!(-1)^m}{[p(\mu)]^m} \right) \right]_{-\infty}^0 = \frac{m!(-1)^m}{\mu^n [p(\mu)]^{m+1}}. \end{aligned}$$

□

**Theorem 3.2.** For an exponential function  $h(t) = e^{at}$  ,  $a \equiv \text{constant}$  , then its general Rangaig integral transform is:

$$\eta_g \{e^a\} = \frac{1}{\mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} e^a dt = \frac{1}{\mu^n (p(\mu) + a)}.$$

**Theorem 3.3.** The general Rangaig integral transform for trigonometric functions, which are  $h(t) = \sin(t)$  and  $h(t) = \cos(t)$ , are:

$$\eta_g \{\sin(t)\} = \frac{1}{\mu^n} \left( \frac{1}{[p(\mu)]^2 + 1} \right),$$

and

$$\eta_g \{\cos(t)\} = \frac{1}{\mu^n} \left( \frac{p(\mu)}{[p(\mu)]^2 + 1} \right).$$

**Proof .** It is possible to write the trigonometric functions in the exponential format as follows:  $\sin t = \frac{1}{2i} (e^{it} - e^{-it})$  ,  $i = \sqrt{-1}$ , then

$$\begin{aligned} \eta_g \{\sin(t)\} &= \frac{1}{\mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} \sin(t) dt = \frac{1}{2i \mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} (e^{it} - e^{-it}) dt, \\ &= \frac{1}{2i \mu^n} \int_{t=-\infty}^0 e^{(p(\mu)+i)t} dt - \frac{1}{2i \mu^n} \int_{t=-\infty}^0 e^{-(i-p(\mu))t} dt \\ &= \frac{1}{2i \mu^n} \left[ \frac{1}{p(\mu) + i} + \frac{1}{i - p(\mu)} \right] = \frac{1}{2i \mu^n} \left[ \frac{i - p(\mu) + i + p(\mu)}{(p(\mu) + i)(i - p(\mu))} \right] \\ &= \frac{1}{\mu^n} \left[ \frac{i - p(\mu) + i + p(\mu)}{ip(\mu) - [p(\mu)]^2 - 1 - ip(\mu)} \right] = \frac{1}{\mu^n ([p(\mu)]^2 + 1)}. \end{aligned}$$

Similarly, for

$$\begin{aligned} \eta_g \{\cos(t)\} &= \frac{1}{2 \mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} (e^{it} + e^{-it}) dt = \frac{1}{2 \mu^n} \int_{t=-\infty}^0 e^{(p(\mu)+i)t} dt + \frac{1}{2 \mu^n} \int_{t=-\infty}^0 e^{-(i-p(\mu))t} dt \\ &= \frac{1}{2 \mu^n} \left[ \frac{1}{p(\mu) + i} - \frac{1}{i - p(\mu)} \right] = \frac{1}{\mu^n} \left[ \frac{i - p(\mu) - i - p(\mu)}{ip(\mu) - [p(\mu)]^2 - 1 - ip(\mu)} \right] \\ &= \frac{p(\mu)}{\mu^n ([p(\mu)]^2 + 1)}. \end{aligned}$$

□

**Theorem 3.4 (General Rangaig integral transform for derivatives).** If  $h(t), h'(t), \dots, h^{(m)}(t) \in H_g$  ,  $m \geq 0$ , then

- (i)  $\eta_g \{h'(t)\} = \frac{1}{\mu^n} h(0) - p(\mu) \eta_g \{h(t)\}$ .  
(ii)  $\eta_g \{h''(t)\} = \frac{1}{\mu^n} h'(0) - \frac{p(\mu)}{\mu^n} h(0) + [p(\mu)]^2 \eta_g \{h(t)\}$ .

**Proof .**

$$(i) \eta_g \{h'(t)\} = \frac{1}{\mu^n} \int_{t=-\infty}^0 e^{p(\mu)t} h'(t) dt,$$

*Integrating by parts,*

$$\begin{aligned} \text{Let } u &= e^{p(\mu)t}, \quad dv = h'(t) dt, \\ du &= p(\mu) e^{p(\mu)t}, \quad v = h(t). \end{aligned}$$

$$\eta_g \{h'(t)\} = \frac{1}{\mu^n} [h(t) e^{p(\mu)t} \Big|_{-\infty}^0 - p(\mu) \int_{t=-\infty}^0 h(t) e^{p(\mu)t} dt] = \frac{1}{\mu^n} h(0) - p(\mu) \eta_g \{h(t)\}.$$

(ii) *Integrating by parts,*

$$\begin{aligned} \text{Let } u &= e^{p(\mu)t}, \quad dv = h''(t) dt, \\ du &= p(\mu) e^{p(\mu)t}, \quad v = h'(t). \end{aligned}$$

$$\begin{aligned} \eta_g \{h''(t)\} &= \frac{1}{\mu^n} [e^{p(\mu)t} h'(t) \Big|_{-\infty}^0 - p(\mu) \int_{t=-\infty}^0 h'(t) e^{p(\mu)t} dt] = \frac{1}{\mu^n} h'(0) - p(\mu) \eta_g \{h'(t)\} \\ &= \frac{1}{\mu^n} h'(0) - \frac{p(\mu)}{\mu^n} h(0) + [p(\mu)]^2 \eta_g \{h(t)\}. \end{aligned}$$

*In general:*

$$\eta_g \{h^{(m)}(t)\} = \frac{1}{\mu^n} \sum_{k=0}^{m-1} (-1)^k [p(\mu)]^k h(0)^{(m-1-k)} + (-1)^m [p(\mu)]^m \eta_g \{h(t)\}.$$

□

#### 4. Applications of General Rangaig Integral Transform

To demonstrate the implementation capability of the general Rangaig integral transform on ordinary differential equations, some first- and second-order ordinary differential equations examples are going to be discussed.

**Application (1)** For the following 1<sup>st</sup> order linear ordinary differential equation:  $\frac{dh}{dt} + h(t) = g(t)$ , with initial condition  $h(0) = 1$ , it is possible to use general Rangaig integral transform to solve this equation as:

By taking the general Rangaig integral transform for both sides of the equation:

$$\begin{aligned} \eta_g \{h'(t)\} + \eta_g \{h(t)\} &= \eta_g \{g(t)\}, \\ \frac{1}{\mu^n} h(0) - p(\mu) \eta_g \{h(t)\} + \eta_g \{h(t)\} &= \eta_g \{g(t)\}, \\ [1 - p(\mu)] \eta_g \{h(t)\} &= \eta_g \{g(t)\} + \frac{1}{\mu^n}, \end{aligned}$$

For  $g(t) = 0$ , Taking inverse general Rangaig integral transform, provides the exact required solution, which is:  $h(t) = e^{-t}$ .

**Application (2)** For the following  $2^{nd}$  order linear ordinary differential equation:  $y'' + y = 1$ , with initial conditions  $y'(0) = 0$  and  $y(0) = 0$ , it is possible to use general Rangaig integral transform to solve this equation as:

By taking the general Rangaig integral transform for both sides of the equation:

$$\eta_g \{y''\} + \eta_g \{y\} = \eta_g \{1\},$$

$$\frac{1}{\mu^n} y'(0) - \frac{p(\mu)}{\mu^n} y(0) + [p(\mu)]^2 \eta_g \{y(t)\} + \eta_g \{y(t)\} = \frac{-1}{\mu^n [p(\mu)]^2},$$

then

$$\eta_g \{y(t)\} = \frac{-1}{\mu^n [p(\mu)]^2 (p(\mu) + 1)},$$

After simple computations and taking inverse Rangaig integral transform, the exact solution is obtained:

$$y(t) = \cos(t) + \sin(t) + 1.$$

## 5. Discussion and Conclusions

The general Rangaig integral transform is a derived transform from the Rangaig integral transform that provides a generalization to the Rangaig integral transform.

The generalized factor in the general Rangaig integral transform comes from replacing the variable  $\mu$  inside the integration by the function  $p(\mu)$ , and  $\mu$  outside the integration by  $\mu^n$ .

The properties of the proposed transform have been studied through applying the transform on some fundamental functions. Using the general Rangaig integral transform in solving some ordinary differential equations of the first- and second-order has proven the capable and efficiency of the transform to be utilized in such important equations that are used in many scientific fields.

## References

- [1] E.S. Abbas, E. Kuffi and S.F.M. Al Khozai, *Solving an improved heat transmission measuring equation using partial differential equations with variable coefficients*, Int. J. Engin. Technol. 7(4) (2018) 5258–5260.
- [2] M.A.B. Deakin, *Euler's invention of integral transforms*, Arch. Hist. Exact Sci. 33(307) (1985) 307–319.
- [3] B.S. Grewal, *Higher Engineering Mathematics*, 42nd ed. Khanna Publishers, 1998.
- [4] H. Jafari, *A new general integral transform for solving integral equations*, J. Adv. Res. 32 (2021) 133–138.
- [5] E. Kreyszig, *Advanced Engineering Mathematics*, 9th ed., Wiley, 2014.
- [6] E.A. Kuffi, A.H. Mohammed, A.Q. Majde and E.S. Abbas, *Applying al-zughair transform on nuclear physics*, Int. J. Engin. Technol. Sci. 9(1) (2020) 9–11.
- [7] E. Kuffi, E.S. Abbas and S.F. Maktoof, *Solving the Beam deflection problem using Al-Tememe transforms*, J. Mech. Continua Math. Sci. 14(4) (2019) 519–527.
- [8] E. Kuffi, E.S. Abbas and S.O. Mebayet, *Al-Tememe transform in solving developed missile automatic control problem*, Int. J. Engin. Technol. 7(4) (2018) 6565–6567.
- [9] E.A. Mansour, S. Mehdi and E.A. Kuffi, *The new integral transform and its applications*, Int. J. Nonlinear Anal. Appl. 12(2) (2021) 849–856.
- [10] E.A. Mansour, E.A. Kuffi and S.A. Mehdi, *The new integral transform "SEE Transform" of Bessel's functions*, Turk. J. Comput. Math. Educ. 12(13) (2021) 3898–3905.
- [11] N.A. Rangaig, N.D. Minor, G. Fe, I. Penonal, J.L. Dexter, C. Filipinas, V.C. Convicto, *On another type of transform called Rangaig transform*, Int. J. Partial Diff. Equ. Appl. 5(1) (2017) 42–48.
- [12] L.S. Sawant, *Applications of Laplace transform in engineering fields*, Int. Res. J. Engin. Technol. 5(5) (2018).